
Wir$wollen$einen$Baum$finden,$der$alle$Knoten$eines$gegebenen$Graphen$beinhaltet$
und$dessen$Kantengewichtsumme$minimal$ist.$

1$ 2$
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Ein$GreedyAAlgorithmus$fällt$in$jedem$SchriG$eine$Entscheidung,$die$lokal$opImal$ist$
und$nie$wieder$revidiert$wird.$
$
Auch$ein$MST$in$nicht$notwendigerweise$eindeuIg.$Beispiel:$Graph$mit$homogenen$
Kantengewichten.$
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Zu$diesem$Zeitpunkt$weiß$man$natürlich$noch$nicht,$wie$man$eine$"sichere$Kante"$
findet.$Damit$beschäUigen$wir$uns$im$Folgenden.$
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Rote$Knoten:$SchniG.$Grüne$Knoten:$Komplement$von$SchniG.$
Die$Kanten,$die$die$roten$und$grünen$Knoten$verbinden,$heißen$kreuzende$Kanten.$

9$

Es$kann$natürlich$immer$mehrere$Kanten$mit$minimalem$Gewicht$geben,$nämlich$
genau$dann,$wenn$mehrere$zu$demselben$Knoten$adjazente$Kanten$dasselbe$
Gewicht$haben.$
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Eine$leichte$Kante$ist$diejenige,$die$das$geringste$Gewicht$hat.$In$dem$Falle$steht$nur$
jeweils$eine$Kante$zur$Auswahl.$

11$

Die$Invariante$(*)$bedeutet,$dass$A$auch$nach$Hinzufügen$der$Kante$(u,v)$noch$ein$
minimaler$Spannbaum$ist.$
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Beweis$des$Satzes$in$Folie$12.$
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15$ 16$



Prims$und$Kruskals$Algorithmen$sind$zwei$Instanzen$des$generischen$Algorithmus.$

17$

Man$geht$immer$ausgehend$von$einem$Knoten$zu$seinem$Nachbarn$und$"erobert"$
ihn.$Der$neu$eroberte$Knoten$
bekommt$dann$einen$Zeiger$auf$seinen$Vorgänger$p[u].$
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IniIalkonfiguraIon$des$Algorithmus.$
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Knoten$0$wird$erobert.$Dieser$hat$die$beiden$Nachbarn$4$und$8.$

21$

Vom$Knoten$4$aus$wählen$wir$den$Nachbarknoten$mit$dem$geringsten$Gewicht.$Die$
Kante$11$wird$nicht$
betrachtet,$weil$wir$den$Knoten$8$bereits$durch$eine$Kante$mit$Gewicht$8$dem$
Spannbaum$hinzugefügt$haben.$
Die$roten$Knoten/Kanten$sind$diejenigen,$die$dem$MST$hinzugefügt$wurden.$Die$
grünen$stehen$für$den$
SchniG.$
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23$

Knoten$8$(unten)$kann$nun$über$eine$Kante$mit$Gewicht$7$erobert$werden.$
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Die$Kanten$werden$nur$dann$zum$SchniG$(potenIell$leichte$Kanten)$hinzugefügt,$
wenn$ihr$Gewicht$jeweils$geringer$ist,$
als$das,$was$vorher$in$den$adjazenten$Knoten$gespeichert$ist.$
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31$

Wir$benutzen$einen$Heap,$um$die$Knoten$(sorIert$anhand$ihrer$assoziierten$
Gewichte)$zu$speichern.$
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Hier$wird$nicht$der$Graph$schriGweise$abgelaufen$und$geguckt,$was$jeweils$lokal$
opImal$ist.$Sondern$es$werden$einfach$
die$global$minimalgewichteten$Kanten$zu$einem$Wald$hinzugefügt,$so$dass$MSTA
EigenschaU$nicht$verletzt$wird.$

41$

Wir$suchen$uns$die$"billigste"$aller$verfügbaren$Kanten$heraus,$die$zwei$
Komponenten$verbindet$(und$die$SpannbaumeigenschaU$nicht$verletzt).$
IniIal$haben$wir$|V|$Komponenten$(=$MSTs).$
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log$(V^2)$=$2$log$V$
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Der$Aufwand$ist$genauso$groß$wie$bei$Prims$Algorithmus,$aber$die$Reihenfolge,$in$der$
die$Kanten$dem$Spannbaum$hinzugefügt$werden,$ist$verschieden.$
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